RieZEEH

OREBEFRO

IERS ERHRFLIE
B it X =5F1
BfifERFA =i 1% 4R

= &2 R7=1 ZmMEREMEAALEM = - GEM EREFER

FET K - TRIGFET

—RXBEZERY (2) —1

N - — =
FE
A Y oY

[REESZEN] FALSMEOLET ?%ﬁIE
HBIFEEODRBEYD-HO—EBERTHY. 55
BT ERT H5EHEDTIEAEL,

EXHEE COE:3
LHIREL IE LA
RISREREE HELAL
rer T MELL




EXETERZE (K01)

THE4 |R7=4& ZSHEMAA LRt 8- VEEM ERMERTES FEX B W MERR - 5hE
THEX 5y B B HERT
THERXSy - T - &R - 5 fkes AL Yo B &FA Yo - S T
JH FEHMERT
= 1
Al
= 1
EEEFTHA X T
= 1
EZERICE ey SRR 727 70 | B, SRR 50mm =
m 40
ST AR (/N BAEE) SAERSCRERI : 747 70 AL 5
m2 200
eE TR B R e 5
m3 10
XLy P VAl i3
m3 10
BRIy AR AR5 R =
m3 0.05
ENEEEE WM & 30 oE
m2 200
TR - 75 R T A7y (13), SR - 50mm, S8 _
Bl WEEL Anbl L3 OnBLE woim =t
m2 200
F=n"=VA L
= 1
SRy L=k EVRRRE : AR SR EE T Ay (13) , GH%EIE 2 30mm, 1) =
g (B - BE ) HEEE BamRE JEIZ 30mm e
m2 100
TAT 7 MRS fE T
= 1

N

C
T
3o




EXETERZE (K01)

THE4 |R7=4& ZSHEMAA LRt 8- VEEM ERMERTES FERXS
TEXS5
THERXSy - T - &R - 5 fkes AL Yo B &FA
NoyFuyT
t 10
S
= 1
ARIBEE BT
= 1
R B B
AH 10
ERTHEE
= 1
IR
= 1
HaEGERE (FEHL)
= 1
WL
= 1
Bl g
= 1
T =5l
= 1
— A P
= 1
TS
= 1
T B B K OVl 7 T 2 Bl 48
= 1
-2 - TE IR




EXETERZE (K01)

THE4 | R7 =4 ZIEHAEA LR B - PR JERSHEREER FERXS B W MERR - 5hE
THEX 5y T M HMERF
TSy « TfE - FER - H05 fkes =< iva pie B BHE B - KA T 22
TG
= 1




N NN 2 BAME A4 A 2025. 04
1 /ﬁcﬁ‘{ﬂﬂ% e Vickinde! 2025. 04
TSI 1.000-00000 0.0 0
W LSRR SHLERFRR] 7 A7 7V MAHEERR, AR 0 5
77 Omm BT m AT 4 B . BTG
TR - R Atk BT Bk HA &8 g
Al R ) TAT 7 MR, 15emL R, &£ C D%
m
&t
" M,m
HH
N NAWA HAffE A 2025. 04
1 /ﬁcﬁ‘{ﬂﬂ% feaszin ViEkinde! 2025. 04
S IR 1.000-00000 0.0 0
Wooom SRR (AR SLERRRER] 727 7V MR
7 N n2 N | W
R - R Atk BT Bk HA &%A g
SRR RAELA N T LTOEA
m2
&t
“ 9,/ m2
HH

=
IS

i
I




N NN 2 BAME A4 A 2025. 04
1 /ﬁcﬁ‘{ﬂﬂ% e Vickinde! 2025. 04
— 95 5 AR LR A 1.000-00000 0.0 0
g g RO TR SRR
BT m3 AT i B
— TR - R e HT HE B &% s
RRIE SHEERRAE R, BREA OB T),
4L, 5. 5kmPA T, 2 CDEH
m3
&t
EAAL /3
N NAWA HAffE A 2025. 04
1 /ﬁcﬁ‘{ﬂﬂ% feaszin ViEkinde! 2025. 04
— S IR 1.000-00000 0.0 0
W4 B AL FRFER T AT 7 b
BT m3 AT i B
_ R - R e HT HE B &% s
L5 # (m3) B8
m3
&t
B M ,/m3

=
IS

i
I




N NN 2 BAME A4 A 2025. 04
1 /k Effﬂﬁié A i 4E A 2025. 04
TSI 1.000-00000 0.0 0
W o5E 1BIEAL Sy FRFR R B ER 5T
BT m3 AT i B
A - B e BT HE B &% s
L5 # (m3) o125
m3
&t
“ H,/m3
HiH
N NAWA HAffE A 2025. 04
1 KR E]ﬁﬁi@ S 1] 2025. 04
S IR 1.000-00000 0.0 0
W ogn |[THEEE R A N30
BT m2 AT i B
A - B e BT HE B &% s
NG A0, 29mmPL_F34mmAST, L R
A M-30, &2 COE M
m2
&t
“ 9,/ m2
HiH
- 6 - %I:M%/E




N NN 2 BAME A4 A 2025. 04
1 /k Effﬂﬁié A i 4E A 2025. 04
TSI 1.000-00000 0.0 0
W78 FE BBV AR BT Ay (13), Al
2 JE:50mm, EHINEE 1. 4mPL 3. OmLL =<¥{va m2 EeWiva i goin ] EAf
‘l.:‘
A - B E s HAAT W& B K} T 2
& (HE - BEE) 1. 4mPh E3. 0mEL T, 50mm, FAE 247
71/ (13), 7" 34ha—} PK-3, &2 TDOE
H m2
At
“ M,/ m2
EAAL
N NAWA HAffE A 2025. 04
1 /k Effﬂﬂié A i 4 A 2025. 04
S IR 1.000-00000 0.0 0
WoogE B (BE - B ) PHEVESE : AR BT Ay (13), Al
JE:30mm, EHINEE 1. 4mPL 3. OmLL =<¥{va m2 AN ] EAf
‘F
A - B E s HAAT W& B K} T 2
& (HaE - BEE) 1. 4mPh E3. 0mEA T, 30mm, F-AE 247
722y (13), #y)a-h PK-4, =T DOEH
m2
At
“ 9,/ m2
EAAL
— 7 —

=
IS

i
I




N NN 2 HLHfE A 2025. 04
1 /k Effﬂﬁié A i 4E A 2025. 04
e TSI 1.000-00000 0.0 0
H 9%
BT t AT i HA
TR - R Atk BT HE HA &8
B AR IE T N - TEE Lk
t
&t
A M./t
N NAWA HAffE A 2025. 04
1 /k Effﬂﬂié A i 4 A 2025. 04
ERERE - S IR 1.000-00000 0.0 0
H 105 =
BT AR AT i HA
R - R Atk BT HE HA &%A
2 LB - e Lk
UN=!
&t
EAAL PPN

=
g

i
I




N NN 2 BAME A4 A 2025. 04
2 /k E"fﬂﬂ% A A A 2025. 04
T o) TSI 1.000-00000 0.0 0
HoO115 -
BT m3 BN $ B 100 EAf
—— A - B E s HAAT W& EAf K} T 2
pal
TAT 7V Mk
m3 100
At
EAAL /3
N NAWA HAffE A 2025. 04
2 /k Effﬂﬂié A i 4 A 2025. 04
T o) S IR 1.000-00000 0.0 0
B o125 -
BT m3 BN $ B 100 EAf
— A - B E s HAAT W& EAf K} T 2
pal
HEFRIER
m3 100
At
B M ,/m3

=
g

i
I




BAME A4 A 2025. 04

AY NN /2
2 /jh\ Effﬂﬂ %% A i 4E A 2025. 04
TSI 1.000-00000 0.0 0

I3
i o |IIEVEARRE T 2t P15t Al
13
o L ¢ AR | i
4 F - 4k 3y BifT ME B ff L i
K — i 3
A 0.24
e N 3]
A 0.53
HEIEER
A 0.51
PR -7 R o158
H 0.28
7A7 7V MR AW
PRI EEAs (13)
t 1
MR (R E DY)
= 1
&
W o

=
g

i
I



N NN 2 BAME A4 A 2025. 04
2 /k Effﬂﬁié A i 4E A 2025. 04
— — TSI 1.000-00000 0.0 0
W14 AR E A BB
HT AH AR i HA
T AEETED AR il Hi{i7 i HE ok i
AR5 E IR
N
EHEE (£ D 0)
&
ait
B M/ AH
R i R




A £ P 4 2025. 04

AY NN /2
3 /k Effﬂﬁié A i 4E A 2025. 04
TSI 1.000-00000 0.0 0

B 158 T}E{@JU“}@%& :
B H W i
T - B o I B Wi o —
FPREER
A 1
|
L 11
T S
TR 52, 4~2. 6t
H 1.4
MR (5 0)
A 1

M/ A

=
I

i
il

- 12 -



LS

AU A R ()

TH4 R 7 =4 ZISHtEAA LR B - VR JERSHERT RS
Hffiz— K Z Bl HLAL KR il P

L001060001 JAYn=7 [ @] TEEE 3 ~A4t A 0. 34 1, 356
001060003 §4ve=7 [ @R ] TV B&8~20t H 0.161 816
L001070010 IRE -7 (EiZE ) [$E3% - avn (v ] THERE 2. 4~2. 6t A 3.92 13, 876
L001070011 fRByr-7 (% ) [#538-avn v K] TR A3 ~4t A 0. 345 1, 462
L001210001 TATTWNT =9V (R ) B %ER 1. 4~3. Om H 0. 403 6, 446
M000201034 ANRIN g0k (Fr=7) [FEE] HE™ A SRR (B 29k FEHE)  (LIFHO. 13m3 (R RE! 11. 569 70, 320
M000301001 VAZA VAR i S AP A 2tk AR 1. 687 9, 621
M000701015 07V [T - HE AR SRAY (B527%) | 7" V=b @3, Im (R RE! 0.157 2,760
M000801009 n=p =7 [y A HEDT A R (BB 21R) FERRE B 10t 6 O TE2. Im AR 0. 164 2, 240
M001161013 /)=y [N Fa-h 2 GRARER ) T BIHIR20em#% 77 V—b £% ¢ 56cm A 0.221 2, 868

ARl 111, 765

=N

C
-
~m




RREM—ER

£7%4 R7=1x Z=/EHES LR H-FAEM EREFERS
L2 K B BA{f &
& TAITIVMER m3 3,400 [EikEEEE L=5.5kmLLTF

& BEERE m3 14,000




